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A 5 = 7,114, 984 13.6 7,002, 642 14.4 112, 342 1.6
- T 19, 672, 237 37.5 18,597, 994 38.3 1,074, 243 5.8
2 | » & = 2,939, 608 5. 6 2,849, 412 5.9 90, 196 3.2
5 5t 29,726, 829 56. 7 28, 450, 048 58. 5 1,276, 781 4.5
" LR 6, 676, 766 12.7 5, 697, 632 1.7 979, 134 17.2
;s%ig KEEIRE 3 0.0 3 0.0 0 0.0
4 TS S0t 0 0.0 0 0.0 0 -
5 5t 6, 676, 769 12.7 5, 697, 635 1.7 979, 134 17.2
w4 B 6, 675, 066 12.7 6, 345, 867 13.1 329,199 5.2
wEEE B 504, 305 1.0 431, 271 0.9 73,034 16.9
#w OB B X 2,878, 056 5.5 2,754, 711 5.7 123, 345 4.5
Slm = =2 1,592,320 3.0 498, 481 1.0 1,093, 839 219.4
| gapovsse 1 0.0 1 0.0 0 0.0
"g 5 & 2 1,650 0.0 1,778 0.0 A 128 -
@ H 2 4,139, 270 7.9 4,340,190 8.9 A 200,920 A 4.6
F B = 305, 734 0.6 100, 018 0.2 205, 716 205. 7
5t 16, 096, 402 30. 6 14,472,317 29.8 1,624, 085 11.2
& i & &t 52, 500, 000 100.0 48, 620, 000 100.0 3, 880, 000 8.0
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